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QUESTION 1

What statement about stateful ACL entries is FALSE? 

A. They can track both TCP and UDP flows. 

B. They can be created in either ingress or egress directions. 

C. A packet in the direction of the stateful ACL rules will automatically create a “related” rule in the reverse direction. 

D. The automatically created rules will not go away until the ACL is manually deactivated and reactivated. 

Correct Answer: D 

 

 

QUESTION 2

What is NOT a function of the VSC? 

A. CMS integration 

B. SDN controller 

C. BGP federation 

D. XMPP communication with VSD 

Correct Answer: B 

Reference: https://www.sdxcentral.com/networking/sdn/definitions/nuage-networks-vsc/ 

 

QUESTION 3

What is NOT a function of VRS? 

A. VxLAN tunneling 

B. Detecting VM events 

C. DHCP and ARP proxy 

D. Libvirtd 

Correct Answer: B 

 

QUESTION 4

To auto-instantiate services on a 7750 DCI, which protocol needs to be enabled between the 7750 SR and VSD? 
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A. SNMP 

B. Openflow 

C. XMPP 

D. BGP EVPN 

Correct Answer: C 

 

QUESTION 5

Refer to the diagram. Which statement is describing a step incorrectly? 
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A. Step a, which consists of defining network domain and policy templates on VSD, must be performed first in all
situations. 

B. Step d, which refers to the VRS agent informing the VSC of the placement of a new VM, is triggered by step f in
which the VM is instantiated on a hypervisor. 

C. Step b, in which the VSC queries VSD on network service and policies required for a new VM, is triggered either by
API calls from the CMS or by manual configuration. 

D. Step e, in which the forwarding tables are deployed, consists of the VSC sending them not only to the VRS agent
hosting the new VM, but to all applicable VRS agents. 

Correct Answer: D 
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